

SIGNATURE PAGE

RFQ# F-96-2024

To the Board of County Commissioners of the County of Monmouth:

**THE UNDERSIGNED HEREBY DECLARES THAT
I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS.
I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE
WITH YOUR REQUIREMENTS.**

Company Name: Signal Control Products, LLC
(PRINT)

Preparer's Name: John H Bolt
(PRINT)

Signature:  16 October 2024
(DATE)

Address: 199 Evans Way
Branchburg, NJ 08876

Telephone No.: 908-231-1133

Fax No.: 908-707-0333

E-Mail Address: john@signalcontrol.com

***** (This should be the email where Contracts would be sent) *****

Contact Person: John Bolt

FEIN: _____
(Federal Employee ID)

(Revised 9/2015)

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER MISCELLANEOUS TRAFFIC SIGNAL EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

RFB must be received no later than: October 17, 2024 10:30AM

For Delivery to: Division of Engineering/Traffic Safety Unit, Public Works Complex
 240A Center Street, Building #1, Freehold, NJ 07728

Delivery Date: 12-14 weeks ARO

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	12" 3-SECTION POLY TRAFFIC SIGNAL, BLACK HOUSING, W/TUNNEL VISORS (RYG LED'S) PRODUCT # TP31VJYP0000 BRAND: ECONOLITE OR EQUIVALENT EACH Packaging: <u>Each</u> MFG/Brand: <u>Econolite</u> Product No: <u>TP31VJYP0000</u> Variances, if any: <u>None</u>	50 EACH	285.00	14,250.00
2	4 PHASE TYPE M TRAFFIC CONTROL CABINET ASSEMBLY (NATURAL ALUMINUM) W/ECONOLITE COBOLT C CONTROLLER EDI SSM-12LE 12 CHANNEL SIGNAL MONITOR WITH LCD DISPLAY/EVENT LOGGING AND REAL TIME CLOCK, RENO LS 200 LOAD SWITCHES WITH INPUT/OUTPUT INDICATOR LIGHTS, NEMA FLASHER, TRANSFER RELAYS, WAVETRONIX CLK 650 CABINET INTERFACE UNIT, ECONOLITE D AND TELEMETRY PANEL FOR PRE-EMPTION. 18" SOLID SUB-BASE WITH ADJUSTABLE SHELVES. BRAND: ECONOLITE PRODUCT # 1647 BRAND: SIGNAL CONTROL PRODUCTS OR APPROVED EQUIVALENT EACH Packaging: <u>Each</u> MFG/Brand: <u>Econolite</u> Product No: <u>1647</u> Variances, if any: <u>None</u>	2 EACH	15,955.00	31,910.00



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER MISCELLANEOUS TRAFFIC SIGNAL EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
3	PEDESTRIAN HAND/MAN LED MODULE WITH COUNTDOWN PRODUCT # 430-6479-001X BRAND: DIALIGHT OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ Dialight Product No: _____ 430-6479-001X Variances, if any: _____ None	150 EACH	142.00	21,300.00
4	ALUMINUM PEDESTRIAN POLE WITH BASE AND POLE CAP, 12' TOTAL HEIGHT (BLACK PC PAINT) PRODUCT # TBJ6 BRAND: SIGNAL CONTROL PRODUCTS OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ Flagpoles Product No: _____ TBJ6-12-BLACK Variances, if any: _____ None	4 EACH	1,115.00	4,460.00
5	POLARA BULLDOG PEDESTRIAN BUTTON ADA (BLACK) FLUSH POLE MOUNT PRODUCT # BDSP-014B BRAND: POLARA OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ Polara Product No: _____ BDSP-014-B Variances, if any: _____ None	12 EACH	122.00	1,464.00
6	POLARA BULLDOG PEDESTRIAN BUTTON ONLY (YELLOW) NO POLE CAP PRODUCT # BDSP-014Y BRAND: POLARA OR EQUIVALENT EACH	104 EACH	106.00	11,024.00



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER MISCELLANEOUS TRAFFIC SIGNAL EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>Each</u> MFG/Brand: <u>Polara</u> Product No: <u>BDSP-014-Y</u> Variances, if any: <u>None</u>			
7	TSH 17.5" SPACER NIPPLE WITH SIGNAL HARDWARE (BLACK PC PAINT COLOR) PRODUCT # 1089 BRAND: SIGNAL CONTROL PRODUCTS OR EQUIVALENT EACH Packaging: <u>Each</u> MFG/Brand: <u>Signal Control Products</u> Product No: <u>1089-B</u> Variances, if any: <u>None</u>	10 EACH	44.00	440.00
8	SERRATED ALUMINUM ELBOW PRODUCT # SC-79 BRAND: SIGNAL CONTROL PRODUCTS OR EQUIVALENT EACH Packaging: <u>Each</u> MFG/Brand: <u>Signal Control Products</u> Product No: <u>SC-79</u> Variances, if any: <u>None</u>	50 EACH	21.25	1,062.50
9	BRONZE CHASE NIPPLE PRODUCT # 1151 BRAND: SIGNAL CONTROL PRODUCTS OR EQUIVALENT EACH Packaging: <u>Each</u> MFG/Brand: <u>Signal Control Products</u> Product No: <u>1151</u> Variances, if any: <u>None</u>	50 EACH	27.50	1,375.00

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing

Hall of Records, 3rd Floor

1 East Main Street

Freehold, NJ 07728

(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

FURNISH AND DELIVER MISCELLANEOUS TRAFFIC SIGNAL EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	SIGNAL CLOSURE KIT (YELLOW) PRODUCT # SE-3054-P01 BRAND: PELCO OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ Pelco Product No: _____ SE-3054-P01 Variances, if any: _____ None	25 EACH	6.50	162.50
11	SIGNAL CLOSURE KIT (BLACK) PRODUCT # SE-3054-P01 BRAND: PELCO OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ Pelco Product No: _____ SE-3054-P01 Variances, if any: _____ None	25 EACH	6.50	162.50
12	BI-MODAL LED ARROW GREEN / YELLOW PRODUCT # 430-6370-001 BRAND: DIALIGHT OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ Dialight Product No: _____ 430-6370-001 Variances, if any: _____ None	75 EACH	78.00	5,850.00
13	FLASHER (20 AMP) PRODUCT # FL-200 BRAND: RENO OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ Reno Product No: _____ FL-200 Variances, if any: _____ None	20 EACH	44.00	880.00

County of Monmouth



RFB# F-96-2024

REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER MISCELLANEOUS TRAFFIC SIGNAL EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
14	VINYL ELECTRICAL TAPE PRODUCT # 33+ BRAND: 3M SCOTCH OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ 3M Product No: _____ 33+ Variances, if any: _____ None	100 ROLL(S)	9.50	950.00
15	8 FT ALUMINUM SQUARE BASE PED POLE PRODUCT # TBJ6 BRAND: FLAGPOLE OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ Flagpoles Product No: _____ TBJ6-8 Variances, if any: _____ None	4 EACH	770.00	3,080.00
16	METER CABINET TALL, TYPE "T" WITH LATCHING HANDLE PRODUCT # PE541615 BRAND: APX OR EQUIVALENT EACH Packaging: _____ Each MFG/Brand: _____ APX Product No: _____ PE541615 Variances, if any: _____ None	4 EACH	1,015.00	4,060.00
TOTAL:				102,430.50

SUBMIT ALL INQUIRIES TO: FORMALBIDQUESTIONS@CO.MONMOUTH.NJ.US